
Checkpoint 1 b 

Electricity & Magnetism  Lecture 23, Slide 21 

Which of the following actions will increase the energy carried by an electromagnetic wave? 

 

A. Increase E keeping  constant  B.  Increase  keeping E constant 

C.  Both of the above will increase the energy D.  Neither of the above will increase the energy 

The energy of one photon is  
Ephoton = hf = h/2 

 
Uwave = Nphotons x Ephoton 

 

Ephoton / Volume = 1/2 e0E0
2 

But then again, what are we keeping constant here? 
 

           WHAT ABOUT PHOTONS?   




